





f) We need our friend Taylor. We develop each term about  $U_{m,n}$  up to second order. Superscript means derivatives.

$$\begin{aligned}
aU_{m+1,n+1} &= a \left( U_{m,n+1} + hU_{m,n+1}^x + \frac{h^2}{2}U_{m,n+1}^{xx} \right) \\
&= a \left( U_{m,n} + kU_{m,n}^y + \frac{k^2}{2}U_{m,n}^{yy} \right) \\
&\quad + ah \left( U_{m,n}^x + kU_{m,n}^{xy} \right) \\
&\quad + \frac{ah^2}{2} \left( U_{m,n}^{xx} \right)
\end{aligned}$$

$$\begin{aligned}
bU_{m-1,n+1} &= b \left( U_{m,n+1} - hU_{m,n+1}^x + \frac{h^2}{2}U_{m,n+1}^{xx} \right) \\
&= b \left( U_{m,n} + kU_{m,n}^y + \frac{k^2}{2}U_{m,n}^{yy} \right) \\
&\quad - bh \left( U_{m,n}^x + kU_{m,n}^{xy} \right) \\
&\quad + \frac{bh^2}{2} \left( U_{m,n}^{xx} \right)
\end{aligned}$$

$$\begin{aligned}
cU_{m+1,n-1} &= c \left( U_{m,n-1} + hU_{m,n-1}^x + \frac{h^2}{2}U_{m,n-1}^{xx} \right) \\
&= c \left( U_{m,n} - kU_{m,n}^y + \frac{k^2}{2}U_{m,n}^{yy} \right) \\
&\quad + ch \left( U_{m,n}^x - kU_{m,n}^{xy} \right) \\
&\quad + \frac{ch^2}{2} \left( U_{m,n}^{xx} \right)
\end{aligned}$$

$$\begin{aligned}
dU_{m-1,n-1} &= d \left( U_{m,n-1} - hU_{m,n-1}^x + \frac{h^2}{2}U_{m,n-1}^{xx} \right) \\
&= d \left( U_{m,n} - kU_{m,n}^y + \frac{k^2}{2}U_{m,n}^{yy} \right) \\
&\quad - dh \left( U_{m,n}^x - kU_{m,n}^{xy} \right) \\
&\quad + \frac{dh^2}{2} \left( U_{m,n}^{xx} \right)
\end{aligned}$$

Now, gathering the coefficients in front of alike derivatives and demanding them all to vanish, except for those corresponding to  $U_{m,n}^{xx}$  and  $U_{m,n}^{yy}$ , which must be one, yields the system

$$\begin{pmatrix} 1 & 1 & 1 & 1 & 1 \\ 1 & 1 & -1 & -1 & 0 \\ 1 & -1 & 1 & -1 & 0 \\ 1 & -1 & -1 & 1 & 0 \\ 1 & 1 & 1 & 1 & 0 \end{pmatrix} \begin{pmatrix} a \\ b \\ c \\ d \\ e \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \\ 0 \\ 0 \\ 1 \end{pmatrix}$$

with solution  $a = b = c = d = \frac{1}{4}, e = -1$ .